1. Pemu jennaumne :
x—06 _i
2x+1 7

2) (2x—5):7 =(x—4):4

2. Pemu jenHaumnne

a)(4x+1)" —8x(x—1)=(2x+3)(4x-1)
6)(2x+2)(6x 1) ( ) ( )
B)(3x+1)" —3x(x—1)=(2x+1)(3x—4)
r) (3x+1) —(2x+1)(3x—4)=3x(x—1)

3. Pemm jenHavuHe :

1 1
1) g(4x—3)+125(1+x);

D) 1-2(20-3) -2 (3x+4) =2

3 2, Iy, 2(3 _5}

2 4 5 8
4 1L 173 _E(i_lj;
1T 1376
5) (y+1) _(2y—1)(y+2)_y_1
3 6
6) XT_l—g(xH):l——

7) Za[a—%j:2(a+l)2—7%;
8)()6—1]2 —(4x—1]2 =5x(1-3x)+2;
2 2) ’

4. Pemn jenHavyuHe
a) a—2(a-3(a-4(a-5)))=120

6) 31y-8(2y-3(2y-3(2y-3)))=-1



